B VCE & PDF https://lwww.geekcert.com/1v0-21-20.html
' 2024 Latest geekcert 1V0-21.20 PDF and VCE dumps Download
: GeekCert.com

1V0-21.209%As

Associate VMware Data Center Virtualization Exam

Pass VMware 1V0-21.20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1v0-21-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 1V0-21.20 Dumps | 1V0-21.20 PDF Dumps | 1V0-21.20 Study Guide 1/3


https://www.geekcert.com/1v0-21-20.html
https://www.geekcert.com/1v0-21-20.html
https://www.geekcert.com/1v0-21-20.html

VCE & PDF https://lwww.geekcert.com/1v0-21-20.html
2024 Latest geekcert 1V0-21.20 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which vSphere feature protects against host hardware failures by restarting virtual machines (VMs) on hosts that are
running in the cluster?

A. vSphere HA

B. vSphere vMotion

C. vSphere Fault Tolerance
D. vSphere DRS

Correct Answer: A

QUESTION 2

Which feature allows an administrator to implement master copies of virtual machines to create ready-foruse virtual
machines?

A. Templates

B. Resource Pools
C. Snapshots

D. Custom Attributes

Correct Answer: A

QUESTION 3

A vSphere operator finds this error message:

Device or filesystem with identifier [naa.6000eb31dffdc33a000000000000002a] has entered the All Paths
Down state.

What should the operator conclude from this error message?

A. A host Is Inaccessible, and migration of affected VMs is expected.

B. A host failed, and automated recovery of affected VMs Is expected.

C. A storage device has failed and is not expected to become available.

D. A storage device is inaccessible and is expected to become available.

Correct Answer: D
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QUESTION 4

Which vSphere feature mitigates common optimization challenges?
A. vSphere Trust Authority

B. vSphere High Availability

C. vSphere DRS D. vSphere Fault Tolerance

Correct Answer: C

QUESTION 5

Which action must an administrator perform in the vSphere Client to create a copy of a running virtual machine?
A. Right-click the VM template > New VM from This Template

B. Right-click the VM > Clone > Clone to Template

C. Right click the VM > Clone > Clone to Virtual Machine

D. Right-click the VM template > Convert to Virtual Machine

Correct Answer: C
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